George E. Chatzarakis; Deepalakshmi Rajasekar; Saravanan Sivagandhi; Ethiraju Thandapani Oscillation of second-order quasilinear retarded difference equations via canonical transform

Mathematica Bohemica, Vol. 149 (2024), No. 1, 39-47

Persistent URL: http://dml.cz/dmlcz/152291

Terms of use:

© Institute of Mathematics AS CR, 2024

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ*: *The Czech Digital Mathematics Library* http://dml.cz

OSCILLATION OF SECOND-ORDER QUASILINEAR RETARDED DIFFERENCE EQUATIONS VIA CANONICAL TRANSFORM

GEORGE E. CHATZARAKIS, Athens, DEEPALAKSHMI RAJASEKAR, SARAVANAN SIVAGANDHI, ETHIRAJU THANDAPANI, Chennai

Received June 25, 2022. Published online January 23, 2023. Communicated by Josef Diblík

Abstract. We study the oscillatory behavior of the second-order quasi-linear retarded difference equation

 $\Delta(p(n)(\Delta y(n))^{\alpha}) + \eta(n)y^{\beta}(n-k) = 0$

under the condition $\sum_{n=n_0}^{\infty} p^{-1/\alpha}(n) < \infty$ (i.e., the noncanonical form). Unlike most existing results, the oscillatory behavior of this equation is attained by transforming it into an equation in the canonical form. Examples are provided to show the importance of our main results.

Keywords: quasi-linear; difference equation; retarded; second-order; oscillation

MSC 2020: 39A10, 39A21

1. INTRODUCTION

This paper deals with the oscillatory behavior of solutions of the second-order quasi-linear retarded difference equation of the form

(1.1)
$$\Delta(p(n)(\Delta y(n))^{\alpha}) + \eta(n)y^{\beta}(n-k) = 0, \quad n \ge n_0,$$

where n_0 is a positive integer, and

(H₁) $\{p(n)\}$ and $\{\eta(n)\}$ are positive real sequences;

 (H_2) k is a positive integer;

(H₃) $\alpha \ge 1$ and β are ratios of odd positive integers such that $\beta > \alpha - 1$.

The solution of (1.1) is a real sequence $\{y(n)\}$ that is defined for $n \ge n_0 - k$ and satisfies (1.1) for all $n \ge n_0$. A nontrivial solution of (1.1) is called *oscillatory*

DOI: 10.21136/MB.2023.0090-22

39

if it is neither eventually positive nor eventually negative; otherwise we say it is *nonoscillatory*. The equation (1.1) is said to be oscillatory if all its solutions are oscillatory. It follows from [15], that (1.1) is in the canonical form if

(1.2)
$$A(n) = \sum_{n=n_0}^{n-1} p^{-1/\alpha}(n) \to \infty \quad \text{as } n \to \infty$$

and it is in the noncanonical form if

(1.3)
$$B(n_0) = \sum_{n=n_0}^{\infty} p^{-1/\alpha}(n) < \infty.$$

It is well-known from oscillation theory that there is a significant difference in the structure of nonoscillatory (say positive) solutions between canonical and noncanonical equations. For any positive solution $\{y(n)\}$ of (1.1), it is easy to see that the first difference $\{\Delta y(n)\}$ is eventually of one sign, while the condition (1.2) ensures that this solution is eventually increasing $(\Delta y(n) > 0)$. Most often, (1.1) has been studied when it is in the canonical form, see for example [1], [2], [4], [7]–[11], [13], [16] and the references cited therein. For noncanonical equations, both signs of the first difference $\{\Delta y(n)\}$ of any positive solutions $\{y(n)\}$ are possible and have to be dealt with. An approach most often in the literature for investigating such equations is to extend known results for canonical equations, see for example [3], [5], [6], [12] and the references cited therein.

Our main aim here is to study oscillatory properties of (1.1) by first transforming the noncanonical equation (1.1) into the canonical form. This approach significantly simplifies the investigation of the oscillatory behaviour of (1.1). To our best knowledge, there are no oscillation results in the literature using this method on quasi-linear difference equations. We provide some examples to demonstrate the importance of our main results. As a convenience and without loss of generality, we only deal in our proofs with positive solutions of (1.1). All functional inequalities are assumed to hold eventually, that is, for n large enough.

2. Oscillation results

Throughout the rest of the paper assume that the condition (1.3) holds. For convenience we use the following notations without further mention:

$$E(n) = p^{1/\alpha}(n)B(n)B(n+1), \quad F(n) = \sum_{s=n_1}^{n-1} 1/E(s),$$

$$\gamma = 1 + \beta - \alpha, \quad Q(n) = B(n+1)B^{\alpha-1}(n)B^{\gamma}(n-k)\eta(n)/\alpha$$

for every integer $n_1 \ge n_0$.

To prove our main results, we use the following lemmas.

Lemma 2.1. Let $\{y(n)\}$ be an eventually positive solution of (1.1). Then one of the following two cases holds for all sufficiently large n:

(I) y(n) > 0, $p(n)(\Delta y(n))^{\alpha} > 0$, and $\Delta(p(n)(\Delta y(n))^{\alpha}) < 0$; (II) y(n) > 0, $p(n)(\Delta y(n))^{\alpha} < 0$, and $\Delta(p(n)(\Delta y(n))^{\alpha}) < 0$.

Proof. The proof is similar to that of Lemma 2.1 in [6] and so the details are omitted. $\hfill\square$

The next lemma play a key role in the proof of our main results.

Lemma 2.2. Assume that $\{y(n)\}$ is an eventually positive solution of (1.1). Then

(2.1)
$$\left(\frac{p^{1/\alpha}(n)\Delta y(n)}{y(n-k)}\right)^{\alpha-1} \leqslant B^{1-\alpha}(n).$$

Proof. Let $\{y(n)\}$ be an eventually positive solution of (1.1). Then by Lemma 2.1, we see that $\Delta y(n) > 0$ or $\Delta y(n) < 0$, say for $n \ge n_1 \ge n_0$.

First assume that $\Delta y(n) < 0$ for all $n \ge n_1$. Since $p^{1/\alpha}(n)\Delta y(n)$ is decreasing (see (1.1))

$$(2.2) \quad y(n-k) \geqslant y(n) \geqslant \sum_{s=n}^{\infty} \frac{1}{p^{1/\alpha}(s)} (-p^{1/\alpha}(s)\Delta y(s)) \geqslant -B(n)p^{1/\alpha}(n)\Delta y(n) \geqslant 0.$$

Now (2.1) immediately follows from (2.2) and the fact that $\alpha \ge 1$ is the quotient of odd positive integers.

Next assume that $\Delta y(n) \ge 0$. First note that $A(n-k) + B(n-k) = B(n_0) > 0$. This, together with (1.3), implies $A(n-k) \ge B(n)$ for large n, say for $n \ge n_1$ for some $n_1 \ge n_0$. Then

$$y(n-k) \ge \sum_{s=n_0}^{n-k-1} \frac{1}{p^{1/\alpha}(s)} p^{1/\alpha}(s) \Delta y(s) \ge A(n-k) p^{1/\alpha}(n) \Delta y(n) \ge B(n) p^{1/\alpha}(n) \Delta y(n),$$

which is clearly equivalent to (2.1). The proof of the lemma is complete.

Theorem 2.3. Assume that the difference equation

(2.3)
$$\Delta(E(n)\Delta u(n)) + Q(n)u^{\gamma}(n-k) = 0$$

is oscillatory. Then (1.1) is oscillatory.

Proof. Assume that $\{y(n)\}$ is an eventually positive solution of (1.1). By the mean-value theorem (see [9]), it is easy to see that

$$\Delta(p(n)(\Delta y(n))^{\alpha}) \ge \alpha(p^{1/\alpha}(n)\Delta y(n))^{\alpha-1}\Delta(p^{1/\alpha}(n)\Delta y(n))$$

or

$$-\eta(n)y^{\beta}(n-k) \ge \alpha(p^{1/\alpha}(n)\Delta y(n))^{\alpha-1}\Delta(p^{1/\alpha}(n)\Delta y(n)).$$

This implies

(2.4)
$$\Delta(p^{1/\alpha}(n)\Delta y(n)) + \frac{1}{\alpha}(p^{1/\alpha}(n)\Delta y(n))^{\alpha-1}\eta(n)y^{\beta}(n-k) \leq 0.$$

Combining (2.1) and (2.4), we obtain

(2.5)
$$\Delta(p^{1/\alpha}(n)\Delta y(n)) + \frac{1}{\alpha}B^{\alpha-1}(n)\eta(n)y^{1+\beta-x}(n-k) \leq 0, \quad n \geq n_1 \geq n_0.$$

Using a method similar to the one used in the proof of Lemma 2.1 in [5], the inequality (2.5) can be rewritten in the equivalent canonical form as (2.6)

$$\frac{1}{B(n+1)}\Delta\left(p^{1/\alpha}(n)B(n)B(n+1)\Delta\left(\frac{y(n)}{B(n)}\right)\right) + \frac{1}{\alpha}B^{\alpha-1}(n)\eta(n)y^{1+\beta-x}(n-k) \leqslant 0.$$

The oscillation preserving transformation y(n) = B(n)u(n) reduces (2.6) to

(2.7)
$$\Delta(E(n)\Delta u(n)) + Q(n)u^{\gamma}(n-k) \leq 0.$$

But by Lemma 1 of [14], the corresponding equation (2.3) also has a positive solution. This contradiction proves the theorem. $\hfill \Box$

Lemma 2.4. Let $\{u(n)\}$ be a positive solution of (2.3). Then

- (i) $\{u(n)\}\$ is eventually increasing and $E(n)\Delta u(n)$ is eventually decreasing;
- (ii) $\{u(n)/F(n)\}$ is eventually decreasing;
- (iii) $u(n) \ge F(n)E(n)\Delta u(n), n \ge n_1.$

Proof. The proof is similar to that of Lemma 2.1 of [9] and hence omitted. \Box

Theorem 2.5. Let $\gamma > 1$. If

(2.8)
$$\sum_{n=n_0}^{\infty} \frac{F^{\gamma}(n-k)}{F^{\gamma-1}(n+1)} Q(n) = \infty$$

then (1.1) is oscillatory.

Proof. Assume that (1.1) is not oscillatory. Then by Theorem 2.3, we see that (2.3) is also not oscillatory. Let $\{u(n)\}$ be an eventually positive solution of (2.3); then there exists an integer $n_1 \ge n_0$ such that u(n) > 0 and u(n-k) > 0 for all $n \ge n_1$. By Lemma 2.4, one can see that $\{u(n)\}$ is increasing and $\{E(n)\Delta u(n)\}$ is positive and decreasing for all $n \ge n_2$ for some $n_2 \ge n_1$. Put

(2.9)
$$w(n) = \frac{F(n)E(n)\Delta u(n)}{u^{\gamma}(n)}, \quad n \ge n_2.$$

Clearly, w(n) > 0 and

(2.10)
$$\Delta w(n) = \frac{F(n+1)\Delta(E(n)\Delta u(n))}{u^{\gamma}(n+1)} + \frac{\Delta u(n)}{u^{\gamma}(n+1)} - \frac{F(n)E(n)\Delta u(n)}{u^{\gamma}(n)u^{\gamma}(n+1)}\Delta u^{\gamma}(n).$$

Since u(n) is positive and increasing, we have

$$\Delta u^{\gamma}(n) = u^{\gamma}(n+1) - u^{\gamma}(n) > 0$$

and using this in (2.10) implies

(2.11)
$$\Delta w(n) \leqslant -\frac{F(n+1)Q(n)u^{\gamma}(n-k)}{u^{\gamma}(n+1)} + \frac{\Delta u(n)}{u^{\gamma}(n+1)}, \quad n \geqslant n_2$$

From Lemma 2.4, we know that u(n)/F(n) is eventually decreasing and hence for $n \ge n_3 \ge n_2$

(2.12)
$$\frac{u(n+1)}{F(n+1)} \leqslant \frac{u(n-k)}{F(n-k)}.$$

Combining (2.12) with (2.11) yields

(2.13)
$$\Delta w(n) \leqslant -\frac{F^{\gamma}(n-k)}{F^{\gamma-1}(n+1)}Q(n) + \frac{\Delta u(n)}{u^{\gamma}(n+1)}, \quad n \ge n_3.$$

Summing up (2.13) from n_3 to n, we obtain

(2.14)
$$\sum_{s=n_3}^{n} \frac{F^{\gamma}(s-k)}{F^{\gamma-1}(s+1)} Q(s) \leqslant w(n_3) + \sum_{s=n_3}^{n} \frac{\Delta u(s)}{u^{\gamma}(s+1)}$$

Let $f(x) = u(n) + \Delta u(n)(x - n)$, $n \leq x \leq n + 1$, $n \geq n_3$. Then f(n) = u(n), f(n + 1) = u(n + 1) and $f'(x) = \Delta u(n) > 0$, n < x < n + 1, $n \geq n_3$. Thus, f is continuous and increasing for $x \geq n_3$. We then have

$$\frac{\Delta u(s)}{u^{\gamma}(s+1)} = \int_{s}^{s+1} \frac{\Delta u(s)}{u^{\gamma}(s+1)} \, \mathrm{d}x = \int_{s}^{s+1} f^{-\gamma}(s+1) f'(x) \, \mathrm{d}x$$
$$< \int_{s}^{s+1} f^{-\gamma}(x) f'(x) \, \mathrm{d}x = \frac{1}{1-\gamma} (f^{1-\gamma}(s+1) - f^{1-\gamma}(s)).$$

43

This implies that

$$\sum_{s=n_3}^n \frac{\Delta u(s)}{u^{\gamma}(s+1)} \leqslant \frac{1}{1-\gamma} (f^{1-\gamma}(n+1) - f^{1-\gamma}(n_3)).$$

Since $\gamma > 1$ and f is an increasing function, it follows from (2.14) that

$$\sum_{s=n_3}^n \frac{F^{\gamma}(s-k)}{F^{\gamma-1}(s+1)} Q(s) \leqslant w(n_3) + \frac{F^{1-\gamma}(n_3)}{\gamma-1} < \infty,$$

which contradicts (2.8) as $n \to \infty$. The proof of the theorem is complete.

Theorem 2.6. Let $0 < \gamma < 1$. If

(2.15)
$$\sum_{n=n_0}^{\infty} F^{\gamma}(n-k)Q(n) = \infty$$

then (1.1) is oscillatory.

Proof. Assume that (1.1) has a nonoscillatory solution; then by Theorem 2.3, equation (2.3) also has a nonoscillatory solution. Let $\{u(n)\}$ be an eventually positive solution of (2.3) and there exists an integer $n_1 \ge n_0$ such that u(n) > 0 and u(n-k) > 0 for all $n \ge n_1$. By Lemma 2.4, u(n) is increasing and $E(n)\Delta u(n)$ is positive and decreasing for all $n \ge n_2$ for some $n_2 \ge n_1$. From Lemma 2.4 (iii), we have

$$u(n-k) \ge F(n-k)E(n-k)\Delta u(n-k) \ge F(n-k)E(n)\Delta u(n)$$

since $E(n)\Delta u(n)$ is decreasing. Using this in (2.3), dividing the resulting inequality by $(E(n)\Delta u(n))^{\gamma}$ and summing up from n_1 to n, we obtain

$$\sum_{s=n_1}^n \frac{\Delta(E(s)\Delta u(s))}{(E(s)\Delta u(s))^{\gamma}} + \sum_{s=n_1}^n F^{\gamma}(s-k)Q(s) \leqslant 0, \quad n \ge n_1$$

or

$$\begin{split} \sum_{s=n_1}^n F^{\gamma}(s-k)Q(s) \leqslant &- \sum_{s=n_1}^n \frac{\Delta(E(s)\Delta u(s))}{(E(s)\Delta u(s))^{\gamma}} \leqslant \sum_{s=n_1}^n \int_{E(s+1)\Delta u(s+1)}^{E(s)\Delta u(s)} \frac{1}{x^{\gamma}} \,\mathrm{d}x \\ &< \int_0^{E(n_1)\Delta u(n_1)} \frac{1}{x^{\gamma}} \,\mathrm{d}x = \frac{E(n_1)\Delta u(n_1)^{1-\gamma}}{1-\gamma} < \infty \end{split}$$

since $0 < \gamma < 1$, which contradicts (2.15) as $n \to \infty$. The proof of the theorem is complete.

3. Examples

In this section, we present two examples to illustrate our main results.

 $E \ge a \le p \le 3.1$. Consider the second-order quasilinear retarded difference equation

(3.1)
$$\Delta(n^3(n+1)^3(\Delta y_n)^3) + n^4 y^5(n-3) = 0, \quad n \ge 4.$$

Here $p(n) = n^3(n+1)^3$, $\alpha = 3$, $\beta = 5$, k = 3 and $\eta(n) = n^4$. By a simple calculation, we obtain B(n) = 1/n, E(n) = 1, F(n) = n, $\gamma = 3$ and $Q(n) = \frac{1}{3}n^2/(n+1)(n-3)^3$. The transformed canonical equation is

$$\Delta^2 u(n) + \frac{n^2}{3(n+1)(n-3)^3} u^3(n-3) = 0, \quad n \ge 4.$$

Now, the condition (2.8) becomes

$$\sum_{n=4}^{\infty} \frac{(n-3)^3}{3(n+1)^2} \frac{n^2}{(n+1)(n-3)^3} = \sum_{n=4}^{\infty} \frac{n^2}{3(n+1)^3} = \infty,$$

that is, the condition (2.8) is satisfied. Therefore by Theorem 2.5, the equation (3.1) is oscillatory.

E x a m p l e 3.2. Consider the second-order nonlinear retarded difference equation

(3.2)
$$\Delta(n^3(n+1)^3(\Delta y(n))^3) + n(n+1)y^{7/3}(n-2) = 0, \quad n \ge 3.$$

Here $p(n) = n^3(n+1)^3$, $\alpha = 3$, $\beta = \frac{7}{3}$, k = 2, and $\eta(n) = n(n+1)$. By a simple computation, we see that B(n) = 1/n, E(n) = 1, F(n) = n, $\gamma = \frac{1}{3}$ and $Q(n) = 1/3n(n-2)^{1/3}$. The transformed canonical equation is

$$\Delta^2 u(n) + \frac{1}{3n(n-2)^{1/3}} u^{1/3}(n-2) = 0, \quad n \ge 3.$$

The condition (2.15) becomes

$$\sum_{n=3}^{\infty} \frac{(n-2)^{1/3}}{3n(n-2)^{1/3}} = \sum_{n=3}^{\infty} \frac{1}{3n} = \infty,$$

so by Theorem 2.6 the equation (3.2) is oscillatory.

4. Conclusion

The oscillatory behavior of solutions of the equation (1.1) for the case $\alpha = \beta$ is discussed in [12] and therefore in this paper we have studied oscillation of the equation (1.1) for the case $\alpha \neq \beta$. Thus the results of this paper are new and complementary to some existing results reported in the literature. Further note that our results are applicable only to delay difference equations.

A c k n o w l e d g e m e n t s. The authors express their gratitude to the editor and the anonymous reviewer for his/her careful reading of the original manuscript and useful comments that helped to improve the presentation of the results.

References

[1]	R. P. Agarwal, M. Bohner, S. R. Grace, D. O'Regan: Discrete Oscillation Theory. Hind-	
	wai, New York, 2005.	zbl MR doi
[2]	Y. Bolat, J. O. Alzabut: On the oscillation of higher-order half-linear delay difference	
	equations. Appl. Maths. Inf. Sci. 6 (2012), 423–427.	${ m MR}$
[3]	G. E. Chatzarakis, S. R. Grace: Oscillation of 2nd-order nonlinear noncanonical differ-	
	ence equations with deviating arguments. J. Nonlinear Model. Anal. 3 (2021), 495–504.	doi
[4]	G. E. Chatzarakis, S. R. Grace, I. Jadlovská: Oscillation theorems for certain second-	
	order nonlinear retarded difference equations. Math. Slovaca 71 (2021), 871–880.	zbl MR doi
[5]	G. E. Chatzarakis, N. Indrajith, S. L. Panetsos, E. Thandapani: Oscillations of second-	
	order noncanonical advanced difference equations via canonical transformation. Carpa-	
	thian J. Math. 38 (2022), 383–390.	$\overline{\mathrm{MR}}$ doi
[6]	G. E. Chatzarakis, N. Indrajith, E. Thandapani, K. S. Vidhyaa: Oscillatory behavior of	
	second-order non-canonical retarded difference equations. Aust. J. Math. Anal. Appl.	
	18 (2021), Article ID 20, 11 pages.	$\mathrm{zbl}\ \mathbf{MR}$
[7]	H. A. El-Morshedy: Oscillation and nonoscillation criteria for half-linear second order	
	difference equations. Dyn. Syst. Appl. 15 (2006), 429–450.	${ m MR}$
[8]	S. R. Grace, R. P. Agarwal, M. Bohner, D. O'Regan: Oscillation of second-order strongly	
	superlinear and strongly sublinear dynamic equations. Commun. Nonlinear Sci. Numer.	
	Simul. 14 (2009), 3463–3471.	zbl MR doi
[9]	R. Kanagasabapathi, S. Selvarangam, J. R. Graef, E. Thandapani: Oscillation results us-	
	ing linearization of quasi-linear second order delay difference equations. Mediterr. J.	
	Math. 18 (2021), Article ID 248, 14 pages.	zbl MR doi
[10]	S. H. Saker: Oscillation of second order nonlinear delay difference equations. Bull. Ko-	
	rean Math. Soc. 40 (2003), 489–501.	zbl MR doi
11]	S. H. Sakar: Oscillation theorems for second-order nonlinear delay difference equations.	
	Period. Math. Hung. 47 (2003), 201–213.	zbl MR doi
[12]	R. Srinivasan, S. Saravanan, J. R. Graef, E. Thandapani: Oscillation of second-order	
	half-linear retarded difference equations via canonical transform. Nonauton. Dyn. Syst.	
7	9 (2022), 163–169.	zbl MR doi
[13]	E. Thandapani, K. Ravi: Oscillation of second-order half-linear difference equations.	
1	Appl. Math. Lett. 13 (2000), 43–49.	zbl MR doi
[14]	E. Thandapani, K. Ravi, J. R. Graef: Oscillation and comparison theorems for half-linear	
	second-order difference equations. Comput. Math. Appl. 42 (2001), 953–960.	zbl MR doi

- [15] W. F. Trench: Canonical forms and principal systems for general disconjugate equations. Trans. Am. Math. Soc. 189 (1974), 319–327.
- [16] B.-G. Zhang, S. S. Cheng: Oscillation criteria and comparison theorems for delay difference equations. Fasc. Math. 25 (1995), 13–32.

Authors' addresses: George E. Chatzarakis (corresponding author), Department of Electrical and Electronic Engineering Educators, School of Pedagogical and Technological Education, Marousi 15122, Athens, Greece, e-mail: gea.xatz@aspete.gr, geaxatz@otenet.gr; Deepalakshmi Rajasekar, Department of Interdisciplinary Studies, Dr. Ambedkar Law University, Chennai, Tamil Nadu, India, e-mail: profdeepalakshmi@gmail.com Saravanan Sivagandhi, Madras School of Economics, Chennai, Tamil Nadu, India, e-mail: profsaran11@ gmail.com; Ethiraju Thandapani, Ramanujan Institute for Advanced Study in Mathematics, University of Madras, Chennai, Tamil Nadu, India, e-mail: ethandapani@yahoo.co.in.

zbl MR doi

zbl MR